
 

Module Instructions  - 5 no  playing “Jeopardy” 

 

 
 

1. The participants are organized into six groups with an equal number of members. 

2. The groups are named after social protection guarantees, namely “Health”, 

“Children”, “Working age”, “Elderly”, “Maternity”, and “HIV”. 

3. There are four rounds, each corresponding to a question. 

4. The group chooses a number from the board (slide 4 of the presentation) and has to 

answer the question of that number. 

5. The group consults among themselves and selects the correct answer, within a time 

limit of 45 seconds. 

6. The group gets ten points for every correct answer and loses five points for every 

incorrect answer. 

7. There are two ‘Jackpot’ questions where the groups have the chance of earning an 

extra ten points for every correct answer. Hence, for a correct answer, the group 

earns 20 points. For a wrong answer, they still lose five points. 

8. There is a ‘Joker’ question, wherein the group gets ten points without answering a 

question. 

9. The points earned by each group are converted into budget money according to the 

conversion table on the following page. 

10. This money is recorded in the budget table. 

11. The budget money is used by groups to design social protection provisions for their 

respective guarantees. 

 

Duration: 1.5 hours 



 

Conversion table 

 
Jeopardy 

points 

Budget money 

(billion dines) 

 Jeopardy 

points 

Budget money 

(billion dines) 

-20 0  25 288 

-15 32  30 320 

-10 64  35 352 

-5 96  40 384 

0 128  45 416 

5 160  50 448 

10 192  55 480 

15 224  60 512 

20 256    

 

 

Budget table from the workshop 

 

 


